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A 7192 and a vy, which the father left over for them, etc.

OVERVIEW

X217 asked 1" according to you that there is no rule of TR W 713, what will be in the
case where a father left over for a 7122 and VW» a slave or a 1X”Y 7MI2; how will
they divide it. md01n explains why the question is (only) by a v1ws31 7122.

nooIn asks:
— ooy VIVS VP XD VIV 9193 VP INNNT NP

And it is astounding! For why did X217 mention v 12y 7122 and did not mention

LIWDY WD, for the same question seemingly apples by 01wo1 v1ws as well; how can they divide
this single slave (or in72) among the two of them!

n90IN answers:
— 1NN O DY NN DI NI WYY NYD NN VIV VIVIT ON 13929 INDINY

And the n''1 answers that by vwsy vwp it was understood that the slave (or

the nxnw 71272) will work one day for this brother and one day for the other
brother -
— D2V 291 9NN 221 VI 591 DD /2 9192 Tay BN 7Y NIWP VIV 193 YaN

However, X211 had a difficulty regarding a wywsy 9152, for if the slave will work
two consecutive days for the 7102 and only one day for the 19, it will turn out

that the 9122 took more than the double portion he is entitled to -
— 9% NN Y YIY N291 N DY99NYNY TN DI 7901 NPINT Y ¥ ONY

For if there is a distant city, of one day’s journey, where one may profit

greatly, for there is cheap merchandise to be acquired there (and be resold here) -
— OV 7959 951 XY 1NN 0 NIN MHNVY 1Y PRY VIV

So the vyw> who only has one days usage of the 2772/72y will not be able to go

there (since it is a day’s journey one way) -
— VIYIN NIIN N 9DNYM OV 7959 155 D139 721D YIY MoaMm

However the 1922 who has two days to utilize the 7172/72Y can go there, and he

will profit much more than the ©vY22 (which is seemingly unfair) -
— 3150991 79 ©YPN Y911 23U

"It would seem that x21 did not assume that they divide the 7»72/72y by the days (a day for one, etc.), for then there
would be no question regarding v1Wws1 7133, just as there is no difficulty regarding v1ws1 vWs.

* The 22 enjoys the right to receive double. If as result of him receiving double he is able to turn it to his advantage
to receive even more; we cannot prevent that, for this is inherent in his right to receive a double portion and any
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However, 1'"7 answered him that nevertheless this is how we divide the 72721 72y
R1Y, one day for the VYW and two days for the 7122.

mooIn offers an alternate solution:
- 3(:,;3 a1 mamns) Y NNV 2 9INRT DIVN VIV 9193 VDI 9NDT YWD PNYY 13929

And the >"1 explains that the reason he mentioned w2y 7122 is because the

X132 states in w1 757w OB PID -
— *UNIINY 99UN R1AYY XIIT AYWIINY 1 HWIINY NYT

That regarding investing in an ox to plow and he is plowing, everyone agrees

that the profit is divided evenly -
— DINNM NID NIN ON D NY PPNV 29 UY 9N

Even though one partner invested only a 771% and the other partner invested two

hundred 1 (two o1n) -
— S0%W 29 Y1 91931 PR PUIYT WY 1859 7599 1979

And therefore %17 asked how should they do this; for now the 9122 will not

receive a double portion?!
— ‘o9 72 Aty 4NN O NYY T2YT VUM

And 1" answered that the 7272/72v works for the w5 one day and for the 71122
two days —

mMooIn responds to an anticipated difficulty:
— YN 10 NYIIND 9IYY 9107 XD

And the case of VWD) 702 is not comparable to the case of 7@ AwWsIAL MW

TR, where both partners share equally in the profit, but by vw ™22 the 1132 receives
double the profit than the V1> -
—Yannw ¥907 RPN NPT DIVN YSNND 95VN "N onnt

Because there by nwn% 7w the rental is divided equally because they
partnered initially with this intent to split the profit equally -

advantage that accompanies it.

? oxmw stated there if two partners invested in purchasing an ox; one invested one 7132 and the other two 2. If they
rent out this ox to plow, they divide the rental profits equally, even though one invested twice the amount of the
other (seemingly because one cannot plow without the permission of the other).

* If however the ox increased in value and they slaughtered it and sold it at a profit then according to 727 the profit is
divided proportionally according to the amount invested.

> X270 (perhaps) assumed that if they inherited one 72v/smAa they would rent out the 72y or 73, but then, according
to the X713 in M2, the 7132 and the VW5 would share equally in the rental. The 7132 will not receive 1w 5.

% This means (as is evident from the continuation of MooIN) that in our case the 7131 will receive double the rental
than the vws.

7 When they invested the monies (the X and the 0»nx») they did not stipulate that the profits will be divided
proportionally to their investment, therefore they share equally.
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P90 295 511 TN 93 *NPL IND TP YT VIVSY 9193 Y23 YaN
However, by wwsy 9122 this reasoning is not applicable, therefore each one
takes according to his share; the 1152 receives double than the vws.

SUMMARY

According to the n"7 the question was that if we divide it by days the 7132 will
receive more than double, the answer is that he is entitled to it. According to the >
the question was he will receive less than double, and the answer is that he will
receive double regardless.

THINKING IT OVER
1. What is the difference between %27 and 1"7 (according to the °"7) in explaining
the reason why by > n " they divide equally?’

2. 1" answered; 121 TAR Q1 AT 72 MR 2RW. According to which answer of mooin
(the N or the *"1) does this answer seem to be more appropriate?'’

3. According to the °"9, if they would not rent out the 7172, but the VW 7122
would use it two days and one day respectively, would there be any question from
7w M (according to 837)?"

¥ The vwn 22 never agreed (or entered in) to any arrangement. The reasoning mentioned in footnote # 7 is not
applicable to them, therefore they divide proportionally.

? See n'"m.

"% See m nix 7"

" See ow 7">0.
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